MATH 210 Discrete Mathematics — Session 6

Which arguments appear vaild?
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If the sum of the digits of this number is divisible by 9, then this number is
divisible by 3.

The sum of the digits of this number is divisible by 9.

This number is divisible by 3.
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----------------------------------------------------------------------------------------------

If the sum of the digits of this number is divisible by 9, then this number is
divisible by 3.

This number is not divisible by 3.

The sum of the digits of this number is not divisible by 9.
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If the sum of the digits of this number is divisible by 9, then this number is
divisible by 3.

This number is divisible by 3.

The sum of the digits of this number is divisible by 9.
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Give a reason for each step.
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ab=0and b #0 premise

ab=10

Ifab=0thena=0o0orb=290.

a=0orb=90
b#0
a=0

Ifab=0and b # 0 thena=0.




